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import sys
sys.path.append("statlib™)
from xtest import ASB

ASB(data)

21 5|#
data 3Ry (EHFISE) £k 3HY A b,
verbose DIR/NRO 7Y v RT3,

22 RbO{E

MRzRTT—F 7L -4,

3 {EFRfHI

EIA A IF 3 KkHE, BERIB 124 k¥R DL, HEHK A OKIES L ICHOWRESHE I, SHBEIZERNB
IZOWVTIETRTOKIEICOWTF—F 2RI NS,

EREA-1 IDWT
EAB-1 EMHAB-2 ER B-3 EHA B-4

wEE 1 x1 x2 x3 x4
HiRE 2 x5 x6 X7 x8
B 3 x9 x10 x11 x12
HiRE 4 x13 x14 x15 x16

HERE s x17 x18 x19 x20



EREA-2ICDWT
X B-1 EHE B-2 X B-3 £E[X B-4

HRE 1 x21 x22 x23 x24
HIRE 2 x25 x26 x27 x28
HRE 3 x29 x30 x31 x32
HWRE 4 x33 x34 x35 x36
HRE S x37 x38 x39 x40

EFA-3IEDWT
EAB-1 EMHAB-2 EMHA B-3 EMHX B-4

HiRE 1 x41 x42 x43 x44
HRE 2 x45 x46 x47 x48
HiRE 3 x49 x50 x51 x52
HWRE 4 x53 x54 x55 x56
HRE 5 x57 x58 x59 x60

PlED XS 7%57—%7%, Python DEHIE /I 3EYV A ELTUTDOLIICERT S (VA NTEZLE
HlZiz7a 7o LAhT 3 RIGESIC AN D),
lid5l4 % data & 55 &

data = [

[[ x1, =x2, x3, x4],
[ x5, =x6, x7, x8],
[ x9, x10, x11, x12],
[x13, x14, x15, x16],
[x17, x18, x19, x20]1,

[[x21, x22, x23, x24],
[x25, x26, x27, x28],
[x29, x30, x31, x32],
[x33, x34, x35, x36],
[x37, x38, x39, x40]],

[[x41, x42, x43, x44],
[x45, x46, x47, x48],
[x49, x50, x51, x52],
[x53, x54, x55, x56],
[x57, x58, x59, x60]]

]

3.1 fERH 1
SR A %33 KHE, BHIK B 2% 4 KHE, WMERDS 5 D7 — 5



data = [
[[9,16,8,1],
[16,4,8,19],
[20,16,16,4],
[7,11,12,11],
[17,16,16,19]],
[[5,17,9,9],
[9,4,3,14],
[2,11,4,15],
[2,16,3,2],
[11,20,19,17]],
[[20,2,1,15],
[18,5,13,11],
[5,9,14,8],
[2,17,4,11],
[11,18,17,12]]
]

import sys

from xtest import ASB

ASB(data)

sys.path.append("statlib")

SS df
Factor A 74.100000 2
S 566.800000 12
Factor B 48.183333 3
AxS 172.566667 6
SxB 1230.000000 36

3.2 fERHI2

MS
37.050000
47.233333
16.061111
28.761111
34.166667

F value p value
0.7844 0.4785

0.4701 0.7050
0.8418 0.5462

S A 232 K, TEDH B 433 K, BEMUERG 3 O F— 5

import numpy as np

data® = np.array([
[[4,3,6],
[4,4,6],
[5,4,411,
[[3,5,5]1,
[4,6,4],
[3,7,4]]
D

ASB(data0®)




SS
Factor A  0.055556
S 0.444444
Factor B 4.000000
AxS 11.111111
SxB 6.888889

df

o N N b =

MS F value p value

0.055556
0.111111
2.000000
5.555556
0.861111

0.5000

2.3226
6.4516

0.5185

0.1602
0.0215



